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Initial Nucleus(bombarding particle, emitted particle)Final Nucleus

Common Particles you should know:

 = 42He,  p = 11H,  d(deuterium) = 21H, t(tritium) = 31H, 10n = neutron,  00  = gamma 


Exoergic means: 

Endoergic means:

Example:
What is the initial nucleus:
???     +     n   --->   p     +     146C



Whiteboards: - Find the missing nucleus
	13756Ba          (n          ,           )          ??? 


(13856Ba)

	13756Ba          (n          ,           ???)          13755Cs


(p = 11H)

	21H                (d            ,         ?)           42He 


( )

	19779Au           (           ,             d)          ???


(19980Hg)

	94Be                (???      ,               t)           84Be    



(21d)
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4He+ %N —->17,0+1H
*Charge and nucleon number are conserved
«Can be written as follows:

14.N(at, p)!70




